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« FYI T I T IR B 59 07 F GRa g8 aur 77 40 8
Plea.sé make sure that the print€d pages in this question paper of Part-II are 8 in
number and it contains 40 q% [ONns.

o Gl S A Fo m-mﬁmm@
Candidates must wn@%&elr Roll Number on the question paper.

. mﬂwmﬁ%ﬁwgﬁﬁww#ﬁW?wg#aw & vl & gy 54,
T 7 FF ff @@ dere. 78 R wam

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

i R
General Instructions :
G) &t geT v &
All questions are compulsory,
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(2) 5507/(Set : B)
(i) & TT YA FT-ghTar 7 Rl

Write correct answer in your answer-book.

[ &R .
[ HISTORY ] [M.M.:05 "
R il w e B ad gom ? | 1
(A). 1815 (B) 1816
- (C) 1817 (D) 1818
Vicnna Congress Convention was held in which year ?
(A) 1815 - (B) 1816
(C) 1817 - "~ (D) 1818
ARG H Yea Wiiesh GHER-U HiA-a1 o1 7 1
A) TRY (B I e
(C) TR sfee (D) S TR
Which was the first weekly newspaper of India ?
(A) The Hindu (B). Bengal Gazatte
(C) S:tmachar Chandrika Q® . (D) Bombay Samachar _
S |
oo e R e g o 2D 1
(A)‘mm?ﬁaﬂ'&%&mrﬁtﬁ (B) G I= JrE X e e

(C)- 2o Fo mo@gmahmvﬁrﬂ (D) & & K T
Poona Pact was between whom ?

(A) Jawaharlal Nehru and Mahatma Gandhi -

(B) Subhash Chandra Bose and Mahatma Gandhi

(C) Dr. B. R. Ambedkar and Mahatma Gandhi

(D) None of these

AP JETH D AGEH 2eeoeeeeenes g (FARrET Gl /T M) 1

The author of the book 'Gulamgin'is ............... .
(Jyotiba Phule/Mahatma Gandhi)

ﬁ@mﬁmwmﬁrﬂm%?'

What do you mean by Absolutism ?
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[ iRy e |
[ POLITICAL SCIENCE ] [M.M.: 15
6. ﬁq%f@aﬁﬁ%ngﬂmmmfﬂw%? _ 1
(A) i (B) G |
(€) T (D) T
In which nation majoritarianism is followed ?
(A) SriLanka ‘ (B) India
(C}) Nepal (D) Bhutan
7. 3fcwwEm B sfem At e g T A S 2 1
(A) 40% (B) 60%
(C) 59% (D) 41% |
How many percentage of people in Belgium spcak the Dutch language ?
(A) 40% | (B). 60%
©) 59% (D) 41%
& \
8. mﬁnaﬁmm%ﬁ@ﬁ%maﬁmﬁmw%? 1
A T O (B) SRS e
C) TEHEE T (D ¥ & #g 7

Which status is given'to-Hindi language by the Indian Constitution ?
(A) National Language

(C) Majority Language

9. fricRea & sF-w Rg g9 g @ 7@ ¥ 2 1
(A) sl W By = -
() J¥w D) W -

Which of the following is not a subject of the Union List ?
(A) Foreign : (B) Currency
(C) Banking (D) Agriculture

(B) Official Language
(D) None of these
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W ST 9IS 3l W F4 g8 7 1
(A) 1980 (B) 1975
(C) 1970 (D) 1990
When was the Bhartiya Janata Party established ?
(A) 1980 (B) 1975
(C) 1970 (D) 1990
‘e ¥ Brg g @ TS @ 8 7 | f
(A) s . (B) U=
(Clr TEIE | (D) &
‘Shiv Sena' is the political party of which State ?
(A) Haryana (B) Punjab
(C} Maharashtra (D) Kerala
36 o B N Bed ¢ PR A 9 g F 6% Fa e 4 A ara g @ ? 1
(A) ¥ T | (By KA
(C) TedE & (D) . 37H @ BT &

What is the party that has got six percent votc or four seats in thce Lok Sabha
elections ?

(A) Regional Party _ (B). National Party

(C) Alliance Party (D} None of these
Q
TF TECE GO s@;‘w et ® ? 1
& T & @) ¥
(G T N (D) T
A Democratic Go@l‘nment 1S accountable to whom ?
(A) President . (B) Forces
(C) Public (D) Governor

@ o A B GER 7 § TR o a7

(A) TG (B) =@ BT

(C) . TA-aed (D) ¥ 8§ F§ 7t
Leaving one party and moving to another party is called :

(A) Transfer (B) Leave the party
(C) Defection (D) None of these

Whiiters sqaen el 9 e Eeatt @ 8T el &

. - ; (a/57) 1
Democratic system is better than other form of Government.

(True/False)
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T T AT A A S R e A A A B G R
I AW B (T a/<TE ) 1

A group of pgoplc who come together to contest election and hold power in the
Government is called a ............... : (Political party/Pressurc group)

18. T TR B GHA B BIBA oo ad F e B (8: o g ad) 1
Local Self Government bodies have a tenure of Cetiresseenia.. YCACS, (Six/Fivc)
19. T6 I3 T H7 oY ¥ 7 - ’
What is the meaning of Civil War ?
20. I Y€ O T P Re g e @ 7 1
What is the minimum age to become a member of the Gram Panchayat ?
[ e ]
[ GEOGRAPHY ] [M.M.: 15
21, w=E St Rew 9 @ dane § 7 1
(A) T (B) sl
(C) wrTaga (D) Ha
Which type of resource is ti@ energy ?
(A) Renewable - K\Q (B) Unrenewable
(C) Man Made P (D) Biotic
S$ .
22-%%3?&%3@%#%%@%? 1
) w g O (B) . 7 g |
(C) «eTEe fgt (D) 75wy gt
The Northern plain of India is made by which seil ?
(A) Black soil (B) Alluvial soil
(C) Laterite soil (D) Desert soil
23. R & o Wy & F B Siaw qpr AR @ 7 | -
(A) 30% (B) 20%.
(C) 35% (D) 43% _
How many percentage of the total terrestrial area of India is plains ?
(A) 30% (B) 20%
(C) 35% (D) 43%

$507/(Set : B)/ I
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(6) 5507/(Set :
24. Prefifea & @ #9-8 T & Oidigw R B S B 7

(A) fewmae wew (B) &Ramn

(C) TT@E= - (D) =

In which of the following states, step (Terracing) farming is done ?
(A) Himachal Pradesh - (B) Haryana

(C) Rajasthan (D} Punjab

25. ‘qﬂaﬁfﬁmu@rﬂaﬂﬂiiﬁrwméwé\m%?

(A) A9 WG _ (B) gf=mt €T
(C) TM-TAGS & HeH - (D) W g
Which region of India is produced most production of wheat ?
(A) Central India (B) Western Ghat
(C) Ganga-Sutlej plain (D) Eastern Ghat
26. T IA H el Dl Fol | B R ?
(A) ¥ (B) T%
(€) R - (D) " Pl
Where was the first textile factory was established ?
(A) Chennai (B) Mumbai
(C) Delhi : D) Calcutta
g\@@ (D)
27. & P A A e de-gera A e B E 7
(A) HIEEr R &Q\ (B) BI& Y e
L (C) SwR-afEiR . (D) uiked mre
In the which region of India, Iron and Steel industries are established ?
'(A] Malwa Plateau (B) Chhota Nagpur Plateau
(C) North-West Region (D) Western Ghat

28, & IA TF I 8

(A) PR T I | (B) gEE &

(C) P ST ST C (D) QK A
Textile industry is an example of :

(A) Agro bascd industry (B) Coopcrative sector
(C) Mineral based industry (D) None of thesc

5507/(Set : B)/ Il
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35. Mm@ SE @ wRia F
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(7) 5507/(Set : B)

(B) 1980
(C} 1960 (D) 1950
When was the Border Road Organisation established ?
(A) 1990 {B) 1980
(C}) 1960 (D) 1950
T F T T G_TTe - L 7
(A)  Higar (B) %=
(C) fRwraTTz™ (D) ==
Which is the biggest Port of India ?
(A) Kandla (B) Mumbai
(C) Visakhapatnam (D) Kochin
WRaET F qed Jo ey H-m ¥ ? .
(A) I (B) 7 Uge
(C) ®SH uRaEew (D) a1y 9Rae
Which is the fastest mean of transport ? :
- (A) Railways (B} Waterways
(C) Roadways \\Q’Q\ (D) Airways _
maﬁwaﬁwﬁ% ................. T T I B 1
N | (& 2 /At i)

Slash and burn a@culture is-an example of

-------------------

(Shifting agriculture/Commercial agriculturc)

UREeT 1 TG99 TEEATET ..ovvenennne... 2 (mﬁrsﬂ/mwﬁﬂsﬁ) ]

Cheapest means of transport is ................ . (Pipe Line/Road Transport)

efa mfea a7 @ ot B ? - \

What is the meaning of Green Revolution ?

1

Define the Basic Industry.

P.T.O.
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[ ST )
[ ECONOMICS ] [M. M. : 05
.............. T W@ FE @ 5, R e ) sfen B s #) o
(A) SmGE X . (B) TR
(C) AR (D) TEF

................. has been one of the major [lactor that has stimulated the
globalization process.

(A) Democracy (B) Monarchy

(C) - Socialism (D) Technology

2006 3 AR Ry AR §To7 3 B 2w @9 € 7 1
(A) 100 (B) 120

(C) 149 (D) 200

According to 2006, how many countries were the member of World Tradce
Organization ?

(A) 100 (B} 120

(C) 149 - (D) 200

SR T F e FH G A Bl IR FCA oL B T TR e 1
(A) st & (B). g &=

(C) T & (D) & & T T |
Production of a goods by exploiting the natural resourccs, in an activity of the
............... sector. '

(A) Primary \Q® (B) Secondary

(C) Tertiary %g\ (D) Nonc of these

ufer =T oM H Q\Q‘G Fm R ooy (g9 omasshEd am)
Per capita inco@ is 2l KNOWn 8s .....ooeveenens . (Total income/Average income]
aeg R somett { w= o § 7 | : 1

What is the meaning of Barter System ?
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